Finals Warm Up Ch 1A, 1B, 2A

1. Use the graph below to find the following part of the graph.
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3. Sketch a complete graph of h(x)= —l|x—2| +4
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4. Find the equation of the graph.
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5. Graph the following function. f(x)=<x -3<x<0 b EERE
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6. The following chart shows the price for parking (y) given the hours (x). Graph the corresponding step-

function. Y.
14

, , Hours Price
- Less than 2 hours $4

8 o0—> From 2 to 4 hours $6

10 More than 4 hours $12
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7. Find the average rate of change from [0,2] for #4’s graph
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Find the domain & range of the following graphs:
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» 10. Find.the intersection (solye for x) using your graphing calculator: x’ —4x-2=—|x-]|
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11. Write the general formulas for the following:

2. Recursive Formula: b. Explicif Formula: * e Sum: Equauon

A, n=\ " . . 0 1S

n=\ e it T
An= 4. Qn= 00, YU (D= Z ‘
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12. Given -20,-16,-12...:
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a. write the recursive formula. b. write the explicit formula. ’ c find ay .
_ S =20, n=) D= -20+4(n-) 00T -20* 4(qu-1)
Oh an-\’\“-\lr\>\ aqu=

13. You arc working at Chipotle and the manager asked ydu to stack the cans of beans in the back room but he likes
everything in pyramids. The top layer needs to have S cans and the th row needs to have 29 cans. Find the following

pieces of information: a, =9 W = %q ::) = 2.; = 4
a. the explicit formula. Qg = 2C\ ".: ... ..b.How many cans are in the 11th row?

On=S+4 (r;\—.i\j_ N

¢. The total number of cans used for 17 rows.-
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Evaluate the following:

T Gy = 5+‘-\(\o)-'@

14. Z[? 2(n-1)] o - ' }5:'%(3f6n)

n=1 n=|

S -\ "'\o\) S,, = 22(9 + \35)
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Write the following using sigma notation & evaluate g 55 ’
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18. Use your graphing calculator to find the followmg interval(s): x> -9 <0 (AKA negative interval) *
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19. Graph y = —x? —4x+1 identify the vertex, axis of symmetry, domain & range | m .
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20.Usey = OS(x 5)? +17 to answer the following questions: S R e
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Vertex: <5‘ \"—\-) ; Axis of Symmetry: = ®) Max or Min /A ;
Domain: Range:
(-0, W) ¢ Do)
21. Find the equation of the quadratic jn vertex form and standard form that has a vertex at (1,-4) & goes
th h th t(-2,-1 -
rough the point (- ) TVF \4 \,5 (.x__n ‘_\—\

= a(x-W\-4
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o = o 8= Vs x* - 2 x ~ Yz

22. Molly Moon’s Ice Cream’s profit equation is f(x) = +5x? +240x.-1000.

a. How many ice scoops would they need to sell'to make a maximum profit?
= -b = =240 ' -
X |2.0- 2.2y =| 24 8COOPS|

b. What is their maximum profit?
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Y= -5(2d)" +240(4) -iocd = §
23. Write tite factored forin equation of the quadratlc given Roots of the graph are x = 3 & x=-2 and that the graph
goes through (2,-7).

4= a (x= 5)(x +2) ly= Yy (x-?:)('xﬂ.}\.

= a(2-3)C *2)
—1= a‘(."‘\)(,"\) o_-s.“lq

24. Factor 2x2 41 Ix+21 25. The length of a rectangle is 5 inches more than twice

aC 42. 'S Y i143 anumber. The width is 4 inches less than the same

number. If the area of the rectangle is 15, find the'
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[ x| (LB = 1D
2% ~3%-20 =\D
2x*-3% ~3% =D

£1)(x=5)=0
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